G101-3: Understanding and Applying the Angle Addition Postulate
Warm Up:  
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Angle Addition Postulate:
[image: ]_________________________________

[image: ]Compare and Contrast:
Looking back on the Segment Addition Postulate:
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If I make one of the smaller angles x, and the other smaller angle y: 
	                  m∡AOB = x
                                 m∡BOC = y
                                 m ∡AOC = 

  = x
  = y
  = 


What do you notice? 


Examples:
1. Draw a ray using the points Q and R. 




      2. Draw an angle using the points L, M, and N. 
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4.
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Try on your own: 
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The   Angle Addition Postulate   states that if point B is on the interior of  ∡ AOC, then:     m∡AOB + m∡BOC = m∡AOC   * The measure of the larger angle is the sum of the measures of the two smaller angles.                   
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Find the m ∡ KLM if m ∡ KLB=26 °   and the m ∡ BLM = 60 ° .                 
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In the following diagram, the measure of  ∡ GHC is 60 ° , and the measure of  ∡ CHI is 104 ° . Find the measure  of  ∡ GHI.             
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1.   Let W be a point on the interior of  ∡ EDC. If m ∡ EDC is 75 ° , and the m ∡ EDW is 30 ° , what is the  m ∡ WDC? Explain how you reached your answer.   
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      If the m ∡ ABC = 110 °   find:      a.   The value of x.    b.   m ∡ ABD   c.   m ∡ CBD        
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1.   Let T be in the interior of  ∡ QRS. Use the angle addition postulate to solve for x, and find the measure of  each angle, given the following information:      m ∡ QRT = (x+2) °   m ∡ TRS = (4x - 4) °   m ∡ QRS = 53 °    
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Based on the diagram below, if m ∡ ZHG= (11x - 1) ° , m ∡ IHZ= 24 ° , and m ∡ IHG  = (12x+13) ° , find the  measure of   ∡ IHG.  Explain how you reached your answer.                   

G  

Z  

H  

I  


image13.png
1) Find mzKLM if mzKLB = 26°
and mzBLM = 60°.
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2) Find m«FGH if m£FGB = 105°
and mzZBGH = 54°.
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msFCD =x+ 41, msBCF = x+178,
and mzBCD =95°. Find x.
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msGFZ = 38", mZLFE =2x+ 125,
and m/GFE = x + 163. Find x.
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1.   Write the Segment Addition Postulate for the points described. Draw a picture to help.                   a.   S is between D and P            b.     J is between S and H         2 .     C is between A and E.   D raw a picture represent ing the three points and the information given.  Find the              length of segment  AC.             If   𝐶𝐸 തതതത   = 7in. and   𝐴𝐸   തതതതത = 23 in.,    𝐴𝐶 തതതതത   =   _____.    
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Given: AC= 39m
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